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PART - A (10 x 2 = 20 Marks)
Answer ALL Questions

Marks,
3 K-Level, €O
1. Define Management. 2,K1,C0l
2. List the features of systems approach. 2.K1,C01
3. Define the term “Decision tree”. 2K1,CO2
4. Name the different conditions for making a decision. 2KiCOZ
5. List out the types of organization charts. 2K1,C03
6. Difterentiate Centralization and Decentralization. 2.k2.C03
7.  What are the principles of effective communication? 2.K1,CO4
8.  What are the elements of directing? 2K1,C04
9.  Define Zero based Budgeting. 2K1.c05
10. Differentiate feedback and feed-forward control. 2,K2.C05
PART - B (5§ % 13 = 65 Marks)
Answer ALL Questions
il. a) Explain the contributions of administrative theory of management. 13,K2,C01
OR
b) Write short notes on -
Kuwstane 6,K2,CO1
(1) Scientific Management.
7,K2,COl

(i1) Behavioural approach school of thought.

12. a) Explain the steps invelved in the MBO process. Explain the benefits 13.K2.C02
and weakness of MBO.
OR

b) List the various steps involved in planning and explain them clearly. 13K2,C02
13. a) Explain different bases of departmentation. What are the advantages 13203
and disadvantages of departmentation?
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b) You are the HR Man nager of a START UP. How will you conduct the 13.k2,C03
recruitment drive for your o ompany?

&

a) ldentify the barriers io effective comrmunication and suocect measures 13.K2,C04
o overcome the barriers.
OR
b) What are the styles of leadership based on anthority? Discuss. ' 13.K2.C04
aj How computers and IT can be used in improvir ng the productivity'in /3K2.C0s5

Q“gdnLLu_JCHS.
OR
b) Discuss in brief the Moderm technigu

135008

XYZisa rg*
the company h
an average wajri;‘ ¢an asse

yssernb oners m a day. The target
volume of the company in a day is assen g, of 1,000 units of air

el

conditioners. The company al ’;owav ces to reduce

labour turnover and absenteeisim. Ai hg workers are happy. Even then the
assembly of air conditioners per day is %00 units only. To m\zmt!gatﬁ the

reasons, XYZ (:ompared the actual performance @f c&rh worker with the

standard. Moreover they observed through CC 1“" that some of the workers

were gossiping during ori»g. Lo s and took mo /.;L‘I, than t

free time.

D

Questions:
A) As a General Manager discuss on the issues faced by XYZ. 7k6C0s
Identify the function of management indicated in the case.

B) How can Productivity be improved at XYZ? &50.000
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